
Speed Limiter Kit for Honda TRX250 

Model years from 2006 

Kill switch duplication speed limiter 
 

Parts list for Kit SL 2470 P24: For all models WITH factory fitted speedometer or 

speedometer sender (electric shift with or without speedometer) 

 

Parts list for Kit SL 2470S P24: For all models NOT fitted with a factory fitted speedometer 

sender (manual shift without speedometer). Vehicle MUST be fitted with an MCS tone wheel 

and hall effect sensor – as supplied in this kit. 

 

Parts list for Kit SL 2470RSS P24: For all models NOT fitted with a factory fitted speedometer 

sender (manual shift without speedometer). Vehicle MUST be retrofitted with a Honda 

gearbox sender – NOT supplied in this kit. 
 

Item Qty Part Number Description 

1 1 MCS 2470C P24 Computer NOTE: - ONLY in SL 2470 kit. 

OR MCS 2470C-S P24 Computer NOTE: - ONLY in SL 2470S kit 

OR  MCS 2470C-RSS P24 Computer NOTE: - ONLY in SL 2470RSS kit 

2 1  8g x 3/8” self tap screws (relay mounting) 

3 1 M5 x 16 pan head screw (relay mounting) 

4 1 5mm flat washer (relay mounting) 

5 1 M5 Nyloc nut (relay mounting) 

6 2  Velcro mounting tape 8cm long 

 

This next item is optional if more than one vehicle is fitted with the speed limiter 
7 1 MCS 160 - MFJ Switch assembly for setting up speed limiter 

 

8  SL 2471 P24 Wiring harness NOTE: - ONLY in SL 2470 kit. 

  OR SL 2471S P24 Wiring harness NOTE: - ONLY in SL 2470S kit  

 OR SL 2471RSS P24 Wiring harness NOTE: - ONLY in SL 2470RSS kit 

 

a   Computer plug (26 way) 

b   Power fuse (3 amp) 

c   Speed limiter control relay (STANDARD or TAMPER PROOF) 

d   Setup control switch plug (6 way plug) 

e   MT090 Kill switch (engine stop switch) connector (1-way plug) 

f  MT6187-1171 MT090 Kill switch (engine stop switch) connector (1-way plug) 

g  Ground connector (black wire) 

h  Brake light switch plugs (2 way plugs) 

i (kit SL2470)  MT090 speedo connector (1-way plug) 

j (kit SL2470) MT6187-1171 MT090 speedo connector (1-way plug) 

k (kit SL2470RSS)  Speed sensor/ Honda gearbox sender plug (3 way plug) 

l (kit SL2470S)  Tone Wheel Speed sensor plug (3 way plug) 

 

9 1 SL 2471C LED brake light patch (for permanent installation) 

Or 

10 1 SL 2471C R1 Setup patch for LED brake light (for temporary installation) 

 

  



For vehicles NOT equipped with a speedometer.  ONLY supplied in SL 2470S kit 

 

 SL 2470DTS Drive Train Speed sensor kit 

11 1  SL 2479A Tone wheel segment 

12 2 Hose Clamp 24 Hose Clamp 26-50mm 

13 2  M6 x 12 bolt 

14 4  6mm flat washer 

15 2  M6 Nyloc nut 

16 1 MCS 076 Speed sensor 

17 1 MCS 2474A Speed sensor bracket 

18 1  M6 x 16 bolt 

19 2  6mm flat washer 

20 1  M6 Nyloc nut 

21 1 Hose Clamp 36 Hose Clamp 44-70mm 

 8  300mm cable ties 

 

 8  150mm cable ties 

 8  200mm cable ties 

 8  300mm cable ties 

 1 to 3 XS30L Tamper Evident Seal (speed sensor connector and spares) 

 

   Installation Instructions (including warranty sheet) 

   Trouble shooting guide 

 

Parts list drawing over page 



Parts list drawing 

 
 

8

2
3

5
4

13 1415

11 11

18

16

19

17

2019
21

M
o
to

rC
yc

le
 C

ru
is

e
 C

o
n
tr

o
ls

ru
is
e

yc
le

CCMo
to
r

1

9

6

RES
DEC

SET
ACC

ON
OFF

7

12V 40A

OR

l - Bikes with MCS tone wheel kit

i - Bikes with
  speedometer

k -

f

e

Bikes with retrofitted
Honda gearbox sender

j

h

g

OR

c

2
1

3
6

4
5

1
3

1
2

1
0

9
8

7
1
1 b

d

a

10

12


